{

I

“m"”m |
j ,
M

" 9. Question numbers 34 to 36 in Section-B are queshions based on practical skills are two
marks questions.

wrr-21 / SECTION-A

1 ﬁ'qﬁrmmgﬁ?{q&ﬂ@m%ﬁhﬁaﬁﬂ%@? 1

Which structure do the cork cells resemble as observed by Robert Hooke ?

2 Wﬁmwﬁﬁmﬁmmmw%a =02 i 1
Kicking a football requires less force than kicking a basketball. Why ?

3 uﬁﬁﬁgmqﬁﬂmﬁmﬁﬁnmmmmﬁﬂm? (femn & aen WO 1
mﬁﬁmmﬂﬁﬁl%} |
[fthewmghtniﬁbudyunEtmem‘th:s‘EN,rwhatwﬂlltbeonlhﬂman (G_iventhat
acceleration due to gravity on moon is one sixthof that on the earth} -

a mﬁﬁimﬁmﬂﬁﬁﬂﬁﬁfﬁﬁfﬂﬁ%mﬁm?ﬁWWWI 2
Particles of matter are mnnnunmsl}r mwmaﬁt}mmnstmte this property of matter gwng an

activity. E

1 |

- qm&ﬁ%:ﬂ%ﬁfﬂaﬁqaﬁmﬁaﬁ@ﬁ?ﬁiﬁéﬁﬁfﬁﬁaé%ﬁﬁlﬁ,t‘,ﬁm‘?mﬁ%z

%7 =% o oA fafEs) T
When observed under microscope, small pores here and there in the epidermis of the leaf are

seen. What are these pores called ? Write nvqfunnﬁunsnfﬁﬁ&parm
6 if 1 v aHiEe fafel g@uﬁmmaﬁmmﬂmm-ﬂmaﬁmﬁ,ma@ 2
ﬁ?ﬂﬁ@ﬂﬂﬂﬁﬁaﬁ#ﬁmﬂﬁﬁﬁmﬁzﬁﬂﬂﬁﬁﬁﬂﬁﬁiﬂﬂﬁﬁﬂﬁ%l '

Write first equation of motion. Using the same equation find the velocity of an object to reach
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its final destination if it starts its journey from rest and accelerates at 6 m/ s* and takes 2

seconds.

7 (a) aq = Bfew H 0 =4 - 3
G) o Sl gier o get TRet & e F s o T s e

@) 600 C R Fififa Wfzum sdiiEe #1 dgW e . H aEe R I fE
ST

{a) What would you observe when :
i) a mixture of iron filings and sulphur powder is heated strongly.

(ii) a saturated solution of sodium chloride prepared at 607 C is allowed to cool at room

femperature.

(b) A solution of alcohol in water contains 75ml of alcohol and 100ml of water. Find out
volume by volume percent of the given solution in water.

8 (a) FHHL FAGAA 25°C & Ffeaa Tmm 5 78 avmE e e 2 3
(b) e i i s & sifae W wn e

{(a) The room temperature is 25°C. What is the corresponding temperature on the Kelvin

scale ?

(b} Give the reason for the existence of the three states of matter.

9 Wﬁmﬁmwm%?ﬁfaﬁlaﬁmim&wﬁq@ﬁﬂzmwmﬁummaﬂ 3
T & 2

What do you mean by crystallization ? How can we get pure copper sulphate from impure
sample by this process ?
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10 &Y SifeER F1 93 Sy aen amife it 3
(iii) = HIRE 2w o s et e B &
(i) 9% 27Tk T9Ed WiIEH 91 gy B
Draw a plant cell and lebel.
(i) two cell organelles that contain their own genetic material
{ii) the organelles where protein synthesis occurs

11 (a) =R % S UHT T S e ? 3
(b) Rl HE San = we an E2
(©  Ueormse ¥ 39 W vad faenm Sm 22 U few v wema w2

aj Wity is connective tissue called 50 ?
What is the function of the areolar connective tissue ?
Which substance is present in the adepocyte ? How does it help ?

12 el WL, 100 g TR FI fordt ot ) 39t § e 5 w2 : 3
On Earth, how much force is needed to lift an object of mass 100 g

13 (i) A wifad & fedt ue = 2= oo e 96 uel F wm A e W U W e 3
] T HIE | : :
(i) 10 kg A9 F fomt uad 99 9§ s e fis 1 30 o a9 i) (& & ufei =i
T WHEA ) §
(i} Suppose a planet exists whose mass and radius both are one - haif of the value of earth.
Calculate the acceleration due to gravity on the surface of this planet.
(i) What is the acceleration produced in a frecly fallig body of mass 10kg (Neglect air
resistance). :

14 B e o P a3 alRe Bl it £ 3

a) WEE
b) T
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c) SET
On what factors do the following physical quantities depend?

) Inertia
b) Momentum

c) Force

15 e aemidFa R Faasd =g ®

A v
e
5 R U 8
L
e —
Eoe—

What type of force is acting in the cases given above?

16 (a) 0 R & i i R w7

(b) T THE TR R SR TS 42 ms 1 A 85 H 10 me 1 B W 1 3EE yveE
R T OH A SR 6 s H OBR G W 31 4 ms! B W 2 mEd

8 s Y1 3l 6 s % ST FR F G0 F 9 Hifa )
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{a) Does acceleration tell us about the direction of motion ?

{b) A car accelerates uniformly from an initial velocity of 2 ms™! {o a final velocity of 10
ms-1in8s. It then slows down uniformly to a final velocity of 4 ms ™7 in 6 5. Calculate the

acceleration of the car during the first 8 s and during the last 6 s.

17 woEReR A fEEE G s F an § g S HE X 3 am ai | i 35 [ g
aife) = 39 43 8 S0 S0 90 NGO 8 weg 7 o 3o i s @ v A =4 Tl
e B 9 3o € = iy S A 46 anen W T A ¥ ween 91 g e e o e
% T wfirdlers =is oo e & EA Herdal € R
Gy el 3 A e e Frafe R s e 2
Gi) Hle-dem G W fEE TR e E2
() W g ERE B 9 e e
On reading about the farmers comumitting suicide in the newspaper Radhika, a class IX
student, thought cf doing something for them. She tock the help of an NGO working in those
areas and contacted government agencies and found eut the reason behind the poor yield It
was a plant discase. The probicm was taken care and the farmers also got support in form of
loan and disease rosistant seeds.
(i) How plant discases can be prevented ?
(i) In what ways ins.ct pests attack the plants ?
(iii)  Write two values exhibited by Radhika.

18 W&qqﬁﬁwmﬁ?%maﬁmmﬁaﬁﬂﬁﬁmmm%?
T F F 399 Wil F1 7 5w v fawiaa 1w €2
How can poultry farming be integrated with crop production ?
How improved poultry breeds are developed in pouliry farming ?
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19 @)

(b)
(@)

(b)

20 s feer @ feg wem fm 87 P sommil ¥ @ Fomel @ wealw S
FHiE

a3 fafan .

)
()

w0 ®1 Sullaq [5a) o1 95ar & oA T Wi SE §, 591 7
TIES U1 Tl H fonwen ooy vity HaE § oI =i 7

el % ol & A sfirenaifoes o 1 g FmE

Answer the following :

(@)
(i)

A sponge can be compressed yet it is a solid. Why ?

Qut of honey or ink which will diffuse faster and why ?

List out three characteristics of particles of matter.

HreT a1, g, W, Wi, Tehed 991 9w 51w, Seft

How colloids are different from suspensions ? Identify the colloids from the following :

Soda water, milk, sponge, clouds, mixture of alcohol and water, Jelly.

21 (@)
(b)
(@)
(b)
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Treifafan % fog =R fafiag

(i) Tay=ias Saw % wifeEi | aga e SiEEs, yaet sy, 99 o
ek AT =

(i) ¥ 0% B WIS J WA F e

Frefafiaad 5 faaam fawdes # i ge=ian -

(i)  ofEi ¥ SR

(i) o I oRfy § 3% wr oig o &

(i) @ ) oEE T gud S iy g )

Give reason for the following :

@
(i)

The cells of meristematic tissue have dense cytoplasm, thin walls and
prominent nuclei.
Vacuoles are absent in the cells of this tissue

Identify the type of meristemn present in the following : -

(1)

at the base of leaves



st e

(iiy  girthoof stom increase due to this
(iii)  increnses the length of the stem

27 o 1 T e R 38 wEbe ol we E2 e RRiE & oRe S
o B wiad |
State the universal law of gravitation. Why 1s it called universal 7 Derive the formula to
caiculate the gravitational constant.
23 (@) =t e fad o W weTE S50 g 991 REE! TUF U SEE UH 0.48 N 21 o= 3 fagae 9 5
ey T S S T adr AR e 8 ng ot ol =) s Fif
) Fdl w40 ms Tt AN A FW ) &fCER T Sw g T g BT HEE A
e uges 7 59 faen wag |2 (g = 10ms 2
(a) A bar of silver is {ound to have a mass of 50 g and weight 0.48 N at a place. When
weighed at ihe egquator its mass is same bul weight reduces  Explain the reason
(&) hody is throan: up with a velocity of 40 s . How long does it take to reach the
highest point and tu reach the ground {g= 10ms?)
24 itE RE e A S ok Fife fed gn e wee e e ey e A gRe e B S
Describe in short five methods by which you can increase the vield of crops and livestock.
W- / SECTION - &
25 fam T ) aon T sifeedE 3 wan A wrd w sl vt € R ER 0 :
(@) T A e e
(b) o Fisie am dmilE
© U= G dwi
(dy  @me 0 Frsie wen s e
The presence of starch: can be shown in which food material and using which reagent
(@) applejuice and lodine sclution
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(b potate extract and satranin

i) appie juive aind safranin
{dd palata exiract and Indine solution.
26 @A A E g R el e 6l T e i‘ﬁﬂm fafa o diel o 3

i, SESIFATE AT ‘*‘ 31 gearaierd! FAR: A G BT SR A9 T FONA SR S BT HET
§%:

@y sl AT v e g '

by  uTEhe: 4 ¥ deie s, weel B A =
@ wresed AT SER, Tt B R
@y woEl A e yraTE g A Bl T

& student adided a fow drops of iodine solution o potato exdract and o few drops uf COnic
hydrochloric 2cid to velicw dal mixed with water in Lwa fesl fubes A and B respectively He
will observe the pre cenice of |

{2} Sucar in tesi tube A, sfarch in test tube B
{b) Metanil veilons in test fube A, starch in fest bl B
{c) Proteins i tost tube A stevch intest tube B

{d) Starch: in fest tube A, Motand vellow i fest tlube B

27 et ¥ ol e wew 4 Mg o wenT 91 o S SHEEEe  HieT 5 e s § g
TEN H T WA 9
(a) T SRHTHES W S U O T e
(b)  HEF EREWEES W EEE 8 g T e
(c)  HET EEETERE @ S U g1 Ve Sel !
(d) e ewETERs B Ta 9 gL T e
When sulphur is separated from a mixture of Iron fiings ana sulphur, by disselving tne
mixture in carben disulphide, the main precantion 1s -
{a) Keep tie Carbon disulphide away from flame.

{(b) Keep Carben disulphide from carbon.
(<) Keep away Carbon disulphide from sulphur.
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{d) Keep away Carbon dieuiphide from water.
28 45 AR F g0 9 vewr waer % gy TH S G GRS HeEEE G &0 2
{a) g b} Wi
[ - 5 (k) e
On heating grov colonred fron fiiings with vellow coiourad sulphur powder, the colour of
. Tron sulphide componnd formed is -
@l grey (b)  wvellow :
fc) yellowish grev (dj black ]

29 frfiferam fa % FHET L WERT 30, 39 it
(@} e %1 Fandl @ vl wop
(b) T we § ysmewe ] sy
() = fEn § v
(d}  wEEeh § wmew wf wy

While carrying out the experimant of burnin g of magnesivin, we must ;

(a} hold the ribbon with a pair of tongs and heat
) hold the ritben in pur hand and heat

{c) place # ina china dish and heat

2y place itin a test tube and heat

30 T e FR S e Y Rt 9 il 5 s e
(@) i e, o5 fafys by  =ifve fafe Sitve: Bl
(€  2FrewR, =R fafy (d)  wifereR Rl e

The outer most layer of the cheek cell and onion peei cells is

(a) Cell memibrane, celiwall (b))  Cell waH cell mersbrane
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(c) Tonoplast, cell wall {d) Cell wail, tonoplast

31 P aeidgER d:
(a)  aEd IR U HEEE Ealticand
(b) S 5 Fr Ao AT )
(©) e ¥ e ASHIHR SR TgT S |
(d) e ST T S R |

The striped muscle fibres are

(@)  Spindle shaped and uninucleate

(b} Cylindrical without nuclei

(c) Cylindrical with striations and many nuclei
(@)  Cylindrical and uninucleate.

32 wﬁmﬁmﬁﬁﬁ.&ﬁﬁmﬁmﬁmaﬁimﬁ%i Sr AeiifE qel STHIAN FINES

el 9d B HI ST e o B geeRiE 1 A wew A 3719 ToRe WERR YU
411 7 =0l 1 HH B

(@) SR, FERTECES ST

(b) A fgEEEE S, i, SR

(c) TR, Sel SR, =g %

(d) e, e, SR

A mixture contains only lodine, Ammonium chloride and Sand. Only lodine and Ammonium

chloride sublime. Only lodine dissolves in carbon tetra chioride.
How will you separate the three components 7 Sequence of steps will be

(a) By sublimation addition of CCls

(b) Addition of CCls, filtration, sublimation
© Sublimation, addition of Hz0, filtration.
(d)  evaporation, distillation, crystallization

33 aaﬁﬁaﬁtﬂauﬁa?ﬁ?ﬁﬂmﬁkﬁt@ﬁﬁ%ﬁTﬁMmﬁmﬁ% ST A G £ 56 99

w1 el S €

(@)  HEF T (b)  GOTH =

© TEEEEE (@) A

Two bodies when placed in contact exert forces paraliel to the surface of contact. This force is
called :

(a) normal force {b) contact force
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ic) gravitationzi force {d) frictiona} force

T @ an AT A B CEw D B owen =, AR Wi =N B T BeH U ey

2!

S H Wi wiE ol aw aeed fason & Titgw S @ Y we aa e FelE A

Dipti was asked to prepare four separate mixtures in four beakers A, B, C and D by mixing
sugar, fine sand, thin pasie of starch and chalk powder respectively in water and then
caiegorice each 2= sble or unsiable. What will be parract categorization?

W AT F wF I FE T T A S o g aww S AT AR T
s & O v o ¥ ueE T owr aae 22

if in the deiemunation of meliing point &f ice, the ire is contarnimated wiih sornc non-velaile
ampurify like common salt, how ihe melling point of ice ic afected?

T A Y 10g wi 3sml omgE e ¥ wiewr e A 4 Sl ool s @ o
@1 B A Tl oud ¥ A w e oo o B & 40C W TE B T oun
diET A WK B ¥ 1 v g i o9 %) oRmes 59 o e HifEg)
A teacher soaked Ty raisins in 35ml of distilled water in a beaker A and similar amount i
beaker B, She maintained the temperature ¥F beakey A st 20°C and beaker-B at 409C. After
hour compare ihe percentage of water absorbed by the raisins in beakers A and B.
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